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Honors Chemistry Review ch 8
Due Tuesday Feb 26™ Test Wed Feb. 27®

List the si gns that a chemical reaction has taken place:

1 {—/ea/‘f'-#
2 bubbles-
3 Color ¢

4 70(6(‘)19 Lfote

Balance the following reactions. For # 1-8 give the type of reaction.

1) __ Ca(ClOs), —>__ CaClh+.5 0, decoinposthizn
) A s
2) ¢g Pb(NOq)Q ==> & PbO+ . NOQ-I- O2 (‘Qﬁ (‘i\m#)n S 17 5
3) __ GHOH+ 3 0,~>4 co+ 3 mo Combustion
' 2
4) _ BaO+ H,0 ---> Ba(OH), a@nm 1S

5) - XC + 5/?) Fz =2 ¢ XeF6 f‘r:-q_).BT-;—-'H'/L\_Q,A--"A/

{f‘/ -
6) SCa-l— -y A ---> ; 3‘ 2 CaCl, + ;Z‘Al %\,\&u e (PL&M

7) _iBﬂC12+__A12(SO4)3 i 5]33504+ :2_‘,5&](:]_3 J\Oubu ,/,arpl,a_/_,@,\@]{*
|
8) A CHe+ 15 0y-> 7 CO+ (om0 Combushion

9) | Ca(OH),+ | H;PO > | CaHPO,+ _ 7,H;0

10) Zn+ ) NaOH+ 2 H,0--> _ NayZn(OH),+ H,



11) SrBr, + (NH,),CO; ---> SrCO;+ ) NH,Br

|/_

12) .5 Hg(OHp+ 2 HPO,—>_| Hg(POl,+ (b H0
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Write the following equations and balance them.
13. Sodium and water combine to produce sodium hydroxide and hydrogen.

2 No +AHa0 o INaoH + Hy

14. Carbon combines with oxygen to produce carbon monoxide.

AC + Oy —CO

15. Hydrogen and sulfur combine to make hydrogen sulfide. 8 g

£ S D Ha S

16. Chlorine plus sodium bromide produces sodium chloride and bromine. |

Cly. #INa B DNac| 8@

17. Copper reacts with iron (II) sulfate to produce iron and copper (I) sulfate.

AU 4 Festy > e+ Cuy S04

18. Sodium metal combines with gaseous chlorine to produce sodium chloride.
g Na Cly —QNOL(/\

Activity Series

19) Complete the following word equations. _, - WP _ Sy
a) zinc + lead nitrate solution .......... sen. kPl NOI?]E_%?k 3.2n ( Nos )
b) iron + zinc sulphate solution ... 1.4..7T.. LD Ne. .Rxn...........

¢) lead + copper nitrate solution ..... ' ?lfﬂ'kaLM%};*%(wU~ )2\(&
d) magnesium + zinc chloride solution ”\QT?“(IL—\’ ...... ‘\'\ ot 27\
e) copper + sodium chloride solution DS Na NJF%V\ ......

f) zinc + iron sulphate solution ........... ?hrf“f‘ugu% . I.éi.\(.l \BOLkl S
g) gold + silver nitrate solution ........... /\%f%ﬁlog_3 ........ (\OKYH
h) magnesium + calcium nitrate solution y/h(,jﬁ (ﬁMOS:,l?r\D( o



20) Three metals X, Y and Z have the following reactions:-
Y will displace X from a solution of its salt.
Z will displace both X and Y from solutions of their salts.
Place the three metals in order of reactivity, starting with the least reactive.
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21) Here is a list of metals in order of decreasing reactivity. Q and R are mystery metals.
K>Q>Ca>Mg>Al>Zn>R>Fe>Cu

a. Will Qreact with cold water? Wk A
—> b. WillR react with cold water? . ”0 .....
> L
c. Will R react with dilute hydrochloric acid? - o A
d. Will R displace copper from copper sulphate solution? %()a/ -

Write word equations for mlﬁreactmns in parts a) to d)

Q=57 Q.. Q £.25 Df% ..... Qo) B

Cr + (o SDL& 2> Cu -’r Cvr SO T

Describe the splint tests: :

1 H} ik Aol VpD}OA) M/\/W W
Ayplegun ()i

2 Dg‘ @ O\/O\SLOMW\'D FL{/Y\’E /\MW\/\ u/\»(jﬂi
A8 é}Q O Tuls

g,y A
% Gy NOO qumbilS % Rxns Gmw 2,



e




